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' Secondary 1 Honors Chapter 9 — Matrix Review

Solve for each variable.
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Evaluate if possible.
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Evaluate if possible.
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Vi,valuate the determinant.
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Evaluate the determinant using diagonals.
2 -3 1 0 1 0
nt 10 23.12 4 ?
2 1 0 -1 -6 1

8
1 6 -1 5 =3 2
S I -4 3 55 -6 1 3
0o -1 2 -1 4 17
" <
=l —[88
3 1 5 6 3 =2
26. 1 -2 1 27. -4 2 5
0 -1 2 -3 -1 O



Given the vertices, find the area of the triangle using a determinant.
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Solve the following systems of equations using augmented matrices.
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QIse the matrices below to answer the following questions.
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37. Are A and C inverses? Explain why or why not.
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38. Are A and B inverses? Explain why or why not.
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Solve the matrix equation.
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’ ‘“ind the inverse of each of the following matrices, if possible.
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Solve the matrix equation
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